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FREA1 =l FREE3 | B L iE
{EftE*E [ ha 32
84 JRET Hﬁ%i t 1,010
HiErE t 955
EfHE*E [ ha 12 32
BULLEHE| In#EE | t 320 1,010
= t 250 955
et mEm*E | ha 314 12
KE™ lwfég t 9,710 320
HEE |t 8,670 250
EfFE*E | ha 41 314
#HT [ INES | t 1,220 9,710
HiEr= t 1,180 8,670
et mEm%E | ha 1 41
X3 BT lwfég t 30 1,220
HiE |t 4 1,180
EfFE*E [ ha 22 1
WEE | INEs | t 800 30
HiEE t 697 4
{E{tmEm*E | ha 84 22
Jil#H lwfég t 3,060 800
HimE |t 2,260 697
_ EfIEiE | ha 21 84
FriR™ | UNFEE | t 742 3,060
. HiEr=E t 548 2,260
FRL244F EETE | ha 2 21
FE(BExH) P lwfég t 65 742
KX(ZALA HE= t 31 548
EfFE*E [ ha 57 2
AfM [ INES | t 2,170 65
HiEE t 1,900 31
et mEm*E | ha 4 57
ZiE lwfég t 140 2,170
HiEr=E t 115 1,900
B4 E*E [ ha 20 4
HAR™ | UNFEE | t 710 140
HiEr=E t 650 115
et mEm*E | ha 59 20
Ak lwfég t 2,350 710
HiEr=E t 2,120 650
EfFE*E [ ha 6 59
FEM | INESE [ t 201 2,350
HiEr=E t 141 2,120
{E{tmEm*E | ha 7 6
EtTRm lwfég t 245 201
HimE |t 221 141
EfFE*E [ ha 26 7
SCHEH| INEE | t 943 245
HiEr=E t 754 221
et Mm% & | ha 82 26
=FHE [ NS | t 2,720 943
HiEE |t 2,520 754
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FEE1 FEE2 =l FREE3 | B £ iE
e EiE | ha 100 82
FEHR [ INE=S | t 3,210 2,720
HimE |t 2,980 2,520
. EfFEE | ha 18 100
FET™ | IRESE [ t 598 3,210
= t 500 2,980
et mEm*E | ha 14 18
Hem [ INEsS | t 386 598
HEE | t 328 500
e+ mEiE | ha 600 14
BT InfgEs | t 21,100 386
HiEr= t 19,500 328
EfImtE | ha 680 600
Namh | INES t 24,500 21,100
HEE |t 22,600 19,500
B4 E*E [ ha 95 680
EEBmH gxﬂz#’ég t 3,210 24,500
= e |t 2,980 22,600
TRR {E{tmEm*E | ha 317 95
FoWH | INEE [ t 10,600 3,210
HEE |t 9,460 2,980
EfFE*E | ha 4 317
IRt | EE | t 134 10,600
) HiEr=E t 120 9,460
EF;&M%E Bt miE | ha 88 4
FE(ExEH) fRSET | INFEE [ t 2,990 134
KXIZALA HiE= t 2.820 120
e+ mEiE | ha 295 88
ZHET | INE=E | t 9,000 2,990
HiEr=E t 8,400 2,820
et mEm*E | ha 17 295
ZIUET | UNFEE t 567 9,000
HEE |t 520 8,400
B4 E*E [ ha 54 17
FEZHET | INEE | t 1,130 567
HiEr=E t 852 520
et mEm*E | ha 7 54
Frimm | INFEE [ t 113 1,130
HimE |t 55 852
EfFE*E [ ha 24 7
EET gxﬂz#’ég t 643 113
R==] = t 579 55
iR YEftE*E [ ha 5 24
BT | INEs | t 100 643
HimE |t 86 579
. {EIEIE | ha 22 5
EREEHT | UNFE= t 286 100
HiEE t 252 86
et Mm% & | ha 49 22
BIE IMNATH | UNFES t 1,700 286
HiEE |t 1,390 252




[ R 24 ETHETH BT —5 I IEER

FEE1 FEE2 =l FREE3 | B £ 1E
et mEm*E | ha 258 49
IFEE | RFET | INEE [ t 14,000 1,700
HEE |t 13,400 1,390
EfHE*E [ ha 46 258
Zmm | INEE | t 2,400 14,000
= t 2,280 13,400
_ EftE#E | ha 34 46
EME | BETH | INEE | t 1,660 2,400
HEE |t 1,560 2,280
_ EfIEiE | ha 57 34
BT [ INES | t 2,110 1,660
HiEr= t 1,930 1,560
et mEm%E | ha 2 57
KFh llllj)jvfég t 57 2110
= e |t 48 1,930
RRR el @fE | ha 69 2
AT [ IEE | t 2,030 57
HiEr=E t 1,910 48
{E{tmEm*E | ha 214 69
FNE | k™ [ NES | t 9,520 2,030
HimE |t 9,110 1,910
e+ mEiE | ha 283 214
BE™M | IN#Es | t 10,600 9,520
i HEE | t 9,790 9,110
F R4 E ] TEfSE#E | ha 47 283
FEMREH | RBE | HFEH | IWESE | t 1,940 10,600
KXIZALA HiE= t 1,830 9,790
EfFE*E [ ha 63 47
At [ INFES | t 2,140 1,940
HiEr=E t 1,840 1,830
e mEiE | ha 116 63
KEET llllj)jvfég t 3,940 2,140
- i |t 3,180 1,840
BRAR et @& | ha 15 116
FiHET | INFEE | t 650 3,940
HiEr=E t 620 3,180
et mEm*E | ha 52 15
g™ | INFEE [t 1,660 650
HimE |t 1,500 620
EfFE*E [ ha 13 52
feEm | IniE=E | t 443 1,660
HiEr=E t 400 1,500
{E{tmEm*E | ha 60 13
BERER | (EmSO>FEm| INEs | t 2,480 443
HiEr=E t 1,920 400
e+ mEiE | ha 154 60
IL,\*ﬁIL,\I_-ﬁ HI*EE t 5,600 2,480
HiEr=E t 4,830 1,920
et Mm% & | ha 25 154
EAMT | INEE | t 538 5,600
HiEE |t 406 4830




[Ep24F ETHETA B T — 21 IEER R

FREE1 REE2 el RIE3 | B B IE
. IEE | t 423 038
oA ¥ ] HiEe | t 345 406
B (REHE) | HEE et E%E | ha 25
ZI2ACh >%FM [(EE | t 123
HEE | t 345
- eI E7E | ha 9
Tgoateg | BER | LR [GEE |t 646
B3 (2 ) et o2
i Pt E7E | ha 9
=REE | JIER [ REE | t 646
HEE | t 275




